0/0 DIMENSION

(SEE PLAN)
1/4 x 1 1/4 MASONRY
PBR WALL PANEL - ANCHOR [FASTENER #11]
@ 36" 0.C. (PRE-DRILL
12-14 x 1 1/4 SELF-DRILLER ANGLE)
VN _
W/WASHER [FASTENER #1741 BASE ANGLE (16 GA. MIN.)
(6) PER PANEL (SEE FASTENER \qwmg /
SPACING DETAIL) < FIN. FLOOR
— b - . '
BASE TRIM [FL-72] — < 4 <
11/2" -
/ A <




0/0 DIMENSION

(SEE PLAN)
PBR WALL PANEL -
1/8 x 3/8 POP RIVET
[F/ASTXENE{Q 440 1/4 x 1 1/4 MASONRY
5 20" O ANCHOR [FASTENER #11]
ad ® 36" 0.C. (PRE-DRILL
12-14 x 1 1/4 SELF-DRILLER ANGLE)
W/WASHER [FASTENER #17A]
(6) PER PANEL (SEE FASTENER S T BASE ANGLE (16 GA. MIN.)
SPACING DETAIL) /
FIN. FLOOR
BASE TRIM [FL-530] | ),&K B Ya vy
A L | |
N 4 <
A <




0/0 DIMENSION

PBR WALL PANEL

1/8 x 3/8 POP RIVET
[FASTENER #14A]
@ 5-0" 0.C.

12-14 x 1 1/4 SELF-DRILLER
W/WASHER [FASTENER #17A]
(6) PER PANEL (SEE FASTENER

SPACING DETAIL)
DRIP TRIM [FL-870]

(SEE PLAN)

BASE CEE (16 GA. MIN.)

MASONRY ANCHOR
(NOT BY MBCI)

MASONRY WALL (NOT BY MBCI)




PBR WALL PANEL ———=

12-14 x 1 1/4 SELF-DRILLER
W/WASHER [FASTENER #17A]

(6) PER PANEL (SEE FASTENER -
SPACING DETAIL) \
WALL GIRT

PBR WALL PANEL —




FASTENER SPACING @

21/7

INTERMEDIATE SUPPORTS

12-14 x 1 1/4 SELF-DRILER
W/WASHER [FASTENER #17A]

FASTENER SPACING

FASTENER SPACING @ 21/7 7 5 7
PANEL ENDS '
12-14 x 1 1/4 SELF-DRILLER oot | " [ o

W/WASHER [FASTENER #17A]

SHEETING DIRECTION

-

PBR FASTENER SPACING

@ SIDE LAPS
1/4-14 x 7/8 LAPTEK W/
WASHER [FASTENER f144]
@ 20" 0C.



PBR WALL PANEL -

1/8 x 3/8 POP RIVET
[FASTENER #14A]
@ 5-0" 0.C.

12-14 x 1 1/4 SELF-DRILLER ——

W/WASHER [FASTENER #17A]
(6) PER PANEL (SEE FASTENER

SPACING DETAIL)

A

1/8 x 3/8 POP RIVET

[FASTENER #14A]
@ 1-8” 0.C. (WHEN
CAP TRIM IS USED)

1/4”

Y

HEAD TRIM [FL—852] =|n S
\COLD—FORMED HEADER

OPTIONAL CAP TRIM [FL—37]
(8" HEADER ONLY)




PBR WALL PANEL

12-14 x 1 1/4 SELF-DRILLER ——

W/WASHER [FASTENER #17A]
(6) PER PANEL (SEE FASTENER
SPACING DETAIL)

HEAD TRIM [FL-852]

N

/ ZEE GIRT

1/4

Y

3/4"

12-14 x 1 1/4 SELF-DRILLER
W/WASHER [FASTENER #17A]
@ 12" 0.C.

DOOR HEADER ANGLE

WALK DOOR HEADER



0/0 DIMENSION
(SEE PLAN)

12-14 x 1 1/4 SELF-DRILLER -
W/WASHER [FASTENER #17A]
(SEE FASTENER SPACING DETALL)

1/4-14 x 7/8 LAPTEK W/ WASHER =
[FASTENER #4A] @ 20" 0.C.

INSIDE CORNER TRIM [FL-800]

12-14 x 1 1/4 SELF-DRILLER
W/WASHER [FASTENER #17A]

AT EACH SUPPORT

'PBR’ WALL PANEL R ﬂ

L

Y

0/0 DIMENSION
(SEE PLAN)

vl

ZEE GIRT/ /
FIELD CUT PANEL AS REQ'D.




1/8 x 3/8 POP RIVET
[FASTENER #14A]

@ 1'-8” 0.C. (WHEN
CAP TRIM IS USED)

/ZEE GIRT

OPTIONAL CAP TRIM [FL-37]—=
(8" JAMB ONLY)

COLD-FORMED JAMB
12-14 x 1 1/4 SELF-DRILLER

7 W/WASHER [FASTENER #17A]

@ 1'-8" 0.C.
FIELD FLATTEN TRIM LEG
WHEN REQ'D. \
'PBR” WALL PANEL /
(FIELD CUT AS REQ'D.) 12-14 x 1 1/4 SELF-DRILLER
W/WASHER [FASTENER #17A]

JAMB TRIM [FL-23] (SEE FASTENER SPACING DETAIL)



12-14 x 1 1/4 SELF-DRILLER
W/WASHER [FASTENER #17A]
@ EA. GIRT

\WALL GIRT

WALK DOOR JAMB

12-14 x 1 1/4 SELF-DRILLER
W/WASHER [FASTENER #17A]
@ 1'-8" 0.

FIELD FLATTEN TRIM LEG
WHEN REQ'D.

PBR’ WALL PANEL \12—14 x 1 1/4 SELF-DRILLER
(FIELD CUT AS REQ'D.) W/WASHER [FASTENER #17A]
JAVB TR [FL=23] (SEE FASTENER SPACING DETAIL)



/ZEE GIRT

COLD FORMED JAMB——=

WINDOW OR LOUVER
(NOT BY MBCI) \

12-14 x 1 PANCAKE HEAD
SELF-DRILLER [FASTENER #12A]

A @ 24" 0.C.

HW\ J]
PERIMETER SEALANT
(NOT BY MBCI) / 12-14 x 1 1/4 SELF-DRILLER
SILL/JAMB TRIM 1/8 x 3/16 POP RIVET W/WASHER [FASTENER #17A]
[FL-848] [FASTENER #14] (SEE FASTENER SPACING DETAIL)
@ 12" 0.C.

'PBR’ WALL PANEL
(FIELD CUT AS REQD.)



12-14 x 1 1/4 SELF-DRILLER
W/WASHER [FASTENER #17A]
(SEE FASTENER SPACING DETAIL)

PBR WALL PANEL

/V

\\\\—ZEE GIRT

~— 16 GA. SHEETING ANGLE

0/0 DIMENSION
(SEE PLAN)

e

OUTSIDE CORNER TRIM [FL-830] 1/4-14 x 7/8 LAPTEK W/WASHER
[FASTENER #4A] @ 20" 0.C.

0/0 DIMENSION
(SEE PLAN)




OPTIONAL CAP TRIM [FL-37]
SILL TRIM [FL-848] \ /(8 SILL ONLY)

1/4-14 x 7/8 LAPTEK W/WASHER——@E&E
[FASTENER #4A] @ 12" O.C.

s
~—1/8 x 3/8 POP RIVET
12-14 x 1 1/4 SELF-DRILLER _— _ [FASTENER #144]
W/WASHER [FASTENER #17A] @ 1-8 0.C (WHEN
(6) PER PANEL END (SEE CAP TRIM IS USED)
FASTENER SPACING DETAIL) COLD—FORMED SILL

PBR WALL PANEL——




	PBR-G-BA-01-V0
	PBR-G-BA-02-V0
	PBR-G-BA-03-V0
	PBR-G-ELP-01-V0
	PBR-G-FS-01-V0
	PBR-G-H-01-V0
	PBR-G-H-02-V0
	PBR-G-ISC-01-V0
	PBR-G-J-01-V0
	PBR-G-J-02-V0
	PBR-G-J-03-V0
	PBR-G-OSC-01-V0
	PBR-G-S-01-V0

